
nfut 
;xeflutf

k|ltzt gu/kflnsf k|ltzt hDdf

1 gfnfdfyL :Nofj /fVg] sfo{ e}/jky 1 100,000.00

2 gfnfdfyL :Nofj /fVg] sfo{
hghfltky -
gljgsfi& pBf]u 
cuf*L_

30,000.00

3 gfnfdfyL :Nofj /fVg] sfo{
Pg l;=Pn clkm; 
cuf*L -/fh' nfdfsf] 
nfdfsf] #/;Dd_

500,000.00

0 630,000.00 0

nfut 
;xeflutf

k|ltzt gu/kflnsf k|ltzt hDdf

1 ;*s lj:tf/ ug]{ sfo{
tNnf] cfnbdf/jf^ 
anfdL^f]n hf]*g] 
;*s -zfvf_

12

2 ;*s lj:tf/ ug]{ sfo{ cfnbdf/ ljr^f]n 
x'b} lqj])fLrf]s emg]{ 
jf^f]-zfvf_

12

3 ;*s lj:tf/ ug]{ sfo{ s'gf^f]n b]lv 
xfQLuf}*f hf]*g] jf^f] 
-zfvf_ 

12

4 ;*s lj:tf/ ug]{ sfo{ gful/s;r]tgfjf^ 
uf*Lvf]N;L hf]*g] 
jf^f] -zfvf_

12

5 ;*s lj:tf/ ug]{ sfo{ tNnf] cfnbdf/ b]lv 
u'/f} ljtf{ hf]*g] 
;*s -zfvf_

12

6 ;*s lj:tf/ ug]{ sfo{ z]/jxfb'/sf] #/jf^ 
tNnf] /f]* hf]*g] -
zfvf_

12

7 ;*s lj:tf/ ug]{ sfo{ tNnf] cfnbdf/ 
lj=s= ^f]n x'b} 
cfkwfk hf]*g] jf^f] -
zfvf_

12

8 ;*s lj:tf/ ug]{ sfo{
emf]n'·'k'njf^ uf}/f} 
ljtf{ x'b} hfg] -zfvf_

12

9 ;*s lj:tf/ ug]{ sfo{
/fdrGb| jnsf] #/ 
b]lv rGb|dfofsf] #/ 
x'b} rf/#/] /dg^f/ 
hf]*g] jf^f]-zfvf_

12

s}lkmot

cg';"rL –6

x]^f}+*f pkdxfgu/kflnsf sfof{no
cf=a=2072¿073 sf] nflu :jLs[t j:tL :t/Lo -j*f :t/Lo_ -j}slNks_ sfo{qmd tyf cfof]hgfx?

j*f g+= 1 

s}lkmot

hDdf

j*f g+= 12

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f g+=
nfut cg'dfg

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f g+=
nfut cg'dfg



10 ;*s lj:tf/ ug]{ sfo{ ljGb|fjgb]lv rf/#/] 
ljr j:tL x'b} 
/dg^f/ hf]*g] jf^f] -
zfvf_

12

11  rf}/df kfgL ;'sfpg] sfo{
lji)f' Hof]lt 
lg=df=lj=sf]

12

12 vfg]kfgL / sDkfp)*jfn nufpg] 
sfo{

lji)f' Hof]lt 
lg=df=lj=, kz'klt 
lg=df=lj= / jfn 
sNof)f df=lj= df

12

13 %\o'dL emofª %\o'ln· u'Djf lgdf{)f 
ug]{ sfo{

ef]n]{ *f+*f 12

14 ;dfwL :yn lgdf{)f cfnbdf/ 12

nfut 
;xeflutf

k|ltzt gu/kflnsf k|ltzt hDdf

4
;*s u|fe]n ug]{ sfo{

j];f/*f+*f jh'^f]n 
16 g+= hf]*\g]

15

nfut 
;xeflutf

k|ltzt gu/kflnsf k|ltzt hDdf

1 ;*s :t/pGgtL ug]{ sfo{
k"j{ klZrd nf]sdfu{ 
b]lv u}/Lufp+ x'b} lbk 
hof]lt hfg] jf^f]

16

2 ;*s :t/pGgtL ug]{ sfo{ s]v|LgL nRsf b]lv 
jfO{kf;/f]* x'b} 
do'wfkrf]s 
sfnf]kfgL pQ/kfgL 
hfg] jf^f]

16

3 vf=kf=p=;=k"jf{wf/ ljsf; r'l/ofdfO{ ;+o'Qm 
vf=kf=p=;=k"jf{wf/ 
ljsf; , x]= 16

16

4 vx/]df t^jGwg ug]{ sfo{ x]–16lz/fg^f]n, 
lsl/tL^f]n, 
:s'n^f]n cuf*Lsf] 
vx/]

16

5 vx/]df t^jGwg ug]{ sfo{ x]–16 j*f leq 
/x]sf]  vx/]

16

6 ko{^sLo :ynsf] lj:tf/ *|fO{e/*f+*f 16
7 ljBfno ejg lgdf{)f e[s'^L df=lj= 16
8 v]ns'b d}bfg tyf ;fdfu|L hgHof]lt p=df=lj= 16

nfut 
;xeflutf

k|ltzt gu/kflnsf k|ltzt hDdf

nfut cg'dfg
s}lkmot

j*f g+= 17

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f g+=
nfut cg'dfg

s}lkmot

j*f g+= 15

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f g+=
nfut cg'dfg

s}lkmot

j*f g+= 16

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f g+=



1 ljBfno k"jf{wf/ ;'wf/ 
ef]n]{ lg=df=lj= x]=–17

17

2 vx/]df :Nofj (nfg vx/] x]=–17 17
3 cw'/f] vfN^f] k'g]{ sfo{ zflGt^f]n 17
4 dlGb/ ;+/If)f r'/] dlGb/ 17
5 cw'/f] :Nofj (nfg l;/fg^f]n x]=–17 17
6 cw'/f] u'Djf lgdf{)f tyf zf}rfno 

lgdf{)f &'nf] ;'sf}nL  x]=–17
17

7 s+lqm^ ;*s lgdf{)f /ftf]df^] x'b} 
bdf/^f]n b+uf 
lg:sg] jf^f]

17

8 vx/]df t^jGw
 x]=–17 e/Lsf] vx/]

17

9 ljBfno sDkfp)*jfn lgdf{)f z'esfdgf k|f=lj= 17
10 cw'/f] sDkfp)*jfn lgdf{)f ljZjHof]lt lg=df=lj= 

lrKn]^L
17

11 ljBfno kmlg{r/ lgdf{)f jgb]lj lg=df=lj= 17

nfut 
;xeflutf

k|ltzt gu/kflnsf k|ltzt hDdf

1 rr{sf] sDkfp)* jfn lgdf{)f ljho u]t;xdgL 18
2 jf^f] :t/Ls/)f ug]{ sfo{ s)f]{vf]nf hfg] jf^f] 18
3 tfdfª ;+u|xfno lgdf{)f 18
4 af}$ :t'kf lgdf{)f 18
5 s+lqm^ ;*s lgdf{)f kflv|g ^f]n b]lv dfg 

l;+ #/hfg] jf^f]
18

6 vx/]df t^jGw ug]{ sfo{ 18 g+= j*f e/L 18

nfut 
;xeflutf

k|ltzt gu/kflnsf k|ltzt hDdf

s= ;*s tkm{
5 ;*s :tl/s/)f ug]{ sfo{ lwdfn^f]n zlQ*f+*f 19
6 ;*s :tl/s/)f ug]{ sfo{ wldn] jf^f] 19
v= ko{^sLo If]q tkm{
3  dlGb/ :tl/s/)f

zlQm ljgfos dlGb/
19

4 u'Djf If]q ljsf; h?· u'Djf 19
u= vfg]kfgL tkm{
3 lr;fkfgL vfg]kfgL :tl/s/)f 19
4 vfg]kfgL jf]*{ ;ldltnfO{ ?kfGt/)f 19

#=  l;+rfO{ tkm{
2 zlQmvf]nf lnkm\^ l;+rfO{ 19
3 zlQmvf]nf ;fttn] l;+rfO{ 19
4 dflyNnf] lr;fkfgL l*kaf]/L· 19
5 xflQn]^ lr;fkfgL s[ifs l;+rfO{ 19
ª= s[lif, jg / jftfj/)f tkm{
2 h?· b]lv lr;fkfgL vx/] lgoGq)f 19

3 #\ofDk] b]lv lr;fkfgL vx/] lgoGq)f 19

4 kfgLsf] d'n ;+/If)f- zlQmvf]nf_ 19
r :jf:Yo tyf ;/;kmfO{ tkm{

s}lkmot

cfof]hgf ;+rfng x'g] :yfg j*f g+=
nfut cg'dfg

s}lkmot

j*f g+= 19

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f g+=
nfut cg'dfg

j*f g+= 18

l;=g= cfof]hgfsf] gfd



2 b/fh vl/b dlxnf :jf:Yo :jo+ 
;]ljsfnfO

19

3 k|hgg :jf:Yo tflnd 19
4 HIV/AIDS Go"lgs/)f 19
5 :jf:Yo rf}sLdf k|z'tL k|f]T;fxg 

sfo{qmd
19

6 k")f{ ;/;kmfO{ sfo{qmd 19
% v]ns'b tkm{
2 k':tsfno Joj:yfkg 19
3 v]ns'b ;fdfu|L vl/b sf]if          

  -Ps]*]dL_
19

4 zlQmvf]nf cfsf; wf/f ljB't 19
h= ljBfno tkm{
3 hgk|Lo %fqfjf; lgdf{)f 19
4 hgk|Lo sDkfp)*jfn lgdf{)f 19

nfut 
;xeflutf

k|ltzt gu/kflnsf k|ltzt hDdf

s= vfg]kfgL tkm{
3 jf?t] vf=kf= of]hgf 20
v= ;*s lgdf{)f tkm{ 20
3 jf^f] lgdf{)f sfo{ r'Rr]vf]nf /fdk'/ 

*f+*f, v'dn^f/
20

0.00
5 jf^f] lgdf{)f sfo{ s'dn^f/ b]lv 

/+uzfnf hfg] jf^f]
20

u= l;+rfO{ tkm{ 20
1 u}/L ufp+, /fO{ ufp+ l;+rfO{ of]hgf 20
2 s/f{vf]nf lnkm\^L· l;+rfO{ 20
3 u}/Lufp+ uf]ljGbk'/ l;+rfO{ 20
#= s[lif tkm{ 20
1 gu/ :t/Lo s[lif pkh ;]jf s]Gb| 

lgdf{)f xl^of xf^jhf/
20

2 l;t e)*f/sf] nflu cg'bfg tyf 
k||fljlws Pj+ ef}lts Ifdtf ljsf; j*f g++ 20 df

20

4 kz' cfxf/ pTkfbg tyf Joj:yfkg
r]tglzn b'Uw p=;=

20

5 EofS;Lg lgM z'Ns pknawtf kz' k+IfL, j+u' kfng 
s[ifsx?nfO[

20

ª= jfnjflnsf tyf :jf:Yo 20
2 ljleGg /f]ux? tyf Pr=cfO{=eL= 

;+u ;DjGwLt sfo{qmd lIflth o"jf Snj

20

3 w|'dkfg dWokfg ;]jg lg?T;fxLt 
tyf lgoGq)f, Knfi^Ls lgoGq)f 
tyf d'Qm If]q #f]if)ff sfo{qmd k|ultlzn o"jf Snj

20

r= nIfLt sfo{qmd 20
1 cfo cfh{g tyf jfv|f kfng lgu/fgL ;d"x 20
2 j+u'/kfng tflnd k|hf pTkfbg ;d"x 20
3 afv|f kfng tflnd

hghflt dlxnf ;d"x
20

4 j+u'/kfng tflnd blnt dlxnf ;d"x 20

j*f g+= 20

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f g+=
nfut cg'dfg

s}lkmot



5 l;kd"ns tflnd sdnkf]v/L dlxnf 
;d"x

20

6 ;efxn lgdf{)f
k|ultlzn dlxnf 
cfk;L ljsf; ;+:yf

20

7 ejg lgdf{)f sfo{ ;{hglzn lszf]/L 
;d'x ejg

20

%= ko{^g , ljBfno tyf dlGb/ 
;+/If)f

20

1 zflGt jfl^sf tyf h}ljs ljljwtf 
;+/If)f ;Dj${g

r'Rr]vf]nf ;f=j=p=;= 20

2 k+rsGof dlGb/ lh)f{bf/ k+rsGof dlGb/ /fO{ 
ufp+ u}/L ufp+

20

3 sDkfp)*jfn lgdf{)f /fhb]lj df=lj= 20
4 ljBfno dd{t ;+ef/ lbjf Hof]lt lg=df=lj= 20
5 ljBfno dd{t ;+ef/ kGrsgof k|f=lj= 20

0 0.00 0

nfut 
;xeflutf

k|ltzt gu/kflnsf k|ltzt hDdf

s= ;*s lgdf{)f tkm{
4 ;*s lgdf{)f ug]{ sfo{ lr;fkgL lqe'jg 

df=lj= czf]s 
jfl^sf kmfo/nfO{g 
;*s

21

5 ;*s lgdf{)f ug]{ sfo{ ld>^f]n b]lv 
g'jfsf]^ ;Ddsf] jf^f]

21

6 ;*s lgdf{)f ug]{ sfo{ #\ofDk] vx/] b]lv 
jg kw]/f hfg] jf^f] 

21

7 ;*s lgdf{)f ug]{ sfo{ u}/Lufp+ s[lif 
;fd'bflos ;+:yf 
j+u'/ kmf/d b]lv s/f{ 
;Dd k'Ug] jf^f]

21

v= vfg]kfgL tkm{ 21
1 vf=kf=p=;= nfO{ vf=kf= jf]*{df 

x:tfGt/)f
21

3 c+uf/] vf=kf= lj:tf/ 21
4 ;fhjf]^] vf=kf= Joj:yfkg tyf 

s'jf dd{t
21

u= l;+rfO{ tyf s[lif tkm{ 
1 lqz'n] e"ldut l;+rfO{ of]hgf 21
2 l*k jf]l/· ug]{ sfo{ dflyNnf] lr;fkfgL 

ef]ng ^f]n
21

3 l;+rfO{ of]hgf k|)fgfy dlxnf s[ifs 
;d"x

21

4 l;+rfO{sf] ^fG;ld^/ lgdf{)f tyf 
dd{t /fd hfgsL l:+frfO{

21

5 xf^jhf/ :tl/s/)f -s[lif, 
kz'kfng_

21

6 blnt cfo cfh{g tyf kz'kfng 
sfo{qmd

21

# ljBfno tyf :jf:Yo sfo{qmd

hDdfM–
j*f g+= 21

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f g+=
nfut cg'dfg

s}lkmot



3 ufp+#/ lSnlgs 21
4 ;fhjf]^] If]qdf :^]h/ 21
ª= jg, jftfj/)f tyf kz'
1 rf]/L lgsf;L lgoGq)fsf] nflu 

;r]tgfd"ns sfo{qmd
21

2 s'/Lnf] v]tL Joj;foLs ?kdf 
;+rfngsf] nflu tflnd

21

3 l^ssf] lj?jf nufpg tf/ hfln 
dfu

21

4 j+u'/¿afv|f kfng s[ifsx?nfO{ 
k|f]T;fxg / lgM z'Ns EofS;Lg

21

5 kz' rf}kfo Joj;foL kmd{nfO{ 
k|f]T;fxg ug]{

21

0 0 0

nfut 
;xeflutf

k|ltzt gu/kflnsf k|ltzt hDdf

s= vfg]kfgL tkm{

3 jf?t] vf=kf= of]hgf 20
v= ;*s lgdf{)f tkm{ 20
3 jf^f] lgdf{)f sfo{ r'Rr]vf]nf /fdk'/ 

*f+*f, v'dn^f/
20

0.00
5 jf^f] lgdf{)f sfo{ s'dn^f/ b]lv 

/+uzfnf hfg] jf^f]
20

u= l;+rfO{ tkm{ 20
1 u}/L ufp+, /fO{ ufp+ l;+rfO{ of]hgf 20
2 s/f{vf]nf lnkm\^L· l;+rfO{ 20
3 u}/Lufp+ uf]ljGbk'/ l;+rfO{ 20
#= s[lif tkm{ 20
1 gu/ :t/Lo s[lif pkh ;]jf s]Gb| 

lgdf{)f xl^of xf^jhf/
20

2 l;t e)*f/sf] nflu cg'bfg tyf 
k||fljlws Pj+ ef}lts Ifdtf ljsf; j*f g++ 20 df

20

4 kz' cfxf/ pTkfbg tyf Joj:yfkg
r]tglzn b'Uw p=;=

20

5 EofS;Lg lgM z'Ns pknawtf kz' k+IfL, j+u' kfng 
s[ifsx?nfO[

20

ª= jfnjflnsf tyf :jf:Yo 20
2 ljleGg /f]ux? tyf Pr=cfO{=eL= 

;+u ;DjGwLt sfo{qmd lIflth o"jf Snj

20

3 w|'dkfg dWokfg ;]jg lg?T;fxLt 
tyf lgoGq)f, Knfi^Ls lgoGq)f 
tyf d'Qm If]q #f]if)ff sfo{qmd k|ultlzn o"jf Snj

20

r= nIfLt sfo{qmd 20
1 cfo cfh{g tyf jfv|f kfng lgu/fgL ;d"x 20
2 j+u'/kfng tflnd k|hf pTkfbg ;d"x 20
3 afv|f kfng tflnd

hghflt dlxnf ;d"x
20

4 j+u'/kfng tflnd blnt dlxnf ;d"x 20

hDdfM–
j*f g+= 22

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f g+=
nfut cg'dfg

s}lkmot



5 l;kd"ns tflnd sdnkf]v/L dlxnf 
;d"x

20

6 ;efxn lgdf{)f
k|ultlzn dlxnf 
cfk;L ljsf; ;+:yf

20

7 ejg lgdf{)f sfo{ ;{hglzn lszf]/L 
;d'x ejg

20

%= ko{^g, ljBfno tyf dlGb/ 
;+/If)f

20

1 zflGt jfl^sf tyf h}ljs ljljwtf 
;+/If)f ;Dj${g

r'Rr]vf]nf ;f=j=p=;= 20

2 k+rsGof dlGb/ lh)f{bf/ k+rsGof dlGb/ /fO{ 
ufp+ u}/L ufp+

20

3 sDkfp)*jfn lgdf{)f /fhb]lj df=lj= 20
4 ljBfno dd{t ;+ef/ lbjf Hof]lt lg=df=lj= 20
5 ljBfno dd{t ;+ef/ kGrsgof k|f=lj= 20

0 0 0

nfut 
;xeflutf

k|ltzt gu/kflnsf k|ltzt hDdf

8 ;*s jf^f]  lgdf{)f tyf :tl/s/)f
w/fg rt/f ;*s 
v)* lkr lgdf{)f 
j*f g++ 23 / 24

23

/fli |̂o

9 kSsL k'n lgdf{)f

j*f g++ 23 / 25 
hf]*g] jf^f] 
s/f{vf]nfsf] 
cf/fdk'/ dh'jf ef]n]{ 
hnf/L . j*s'n] 
xgf{df*L dWo] s'g} 1 
j^f kSsL k'n lgdf{)f

23

lhNnf 
¿/fli |̂o

#= ;fj{hlgs hUuf klxrfg tyf 
;+/If)f

23

1
ko{^sLo If]q u'Djf*f+*f d& dlGb/ 
;jbfx:yn lgdf{)f

23

2 ;fj{hlgs zf}rfno lgdf{)f
ef]n]{, cf/fdk'/ 
j*sf}n]

23

ª=
jftfj/)f tyf j:tL jrfp vx/] 
gbL lgoGq)f  tyf j[Iff/f]k)f

1 gbL gLoGq)f tyf t^jGwg ;'sf}/fvf]nf 
23 s]lGb|o 

lhNnf

2 gbL gLoGq)f tyf t^jGwg
ef]n]{ vx/], /fdvx/] 
cf+kvf]nf lgoGq)f

23

3 v'Nnf lbzf d'Qm If]q d'Qm 
sfo{qmdnfO{ lg/Gt/tf

23

4 j[xt vfg]kfgL cfof]hgf 
23 gu/:tl/o 

¿s]Gb|Lo

5 a'·] lz?#f/L vfg]kfgL of]hgf       
 -k|hfhflt_

23

6 zfj{hlgs zf}rfno lgdf{)f
ef]n]{rf]s, lz?#f/L 
vfg]kfgL of]hgf

23

gu/ ¿s]Gb|Lo

hDdfM–
j*f g+= 23

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f g+=
nfut cg'dfg

s}lkmot



h= cfod'ns¿;Lkd"ns¿/f]huf/d"ns 
sfo{qmd-dlxnf ¿blnt¿cflbjf;L 
hghflt sfo{qmd

1 xfp; jfO{l/·, *|fO{le·, Jo"l^kfn{/ 
, Rofpv]tL, s/];fjf/L, t/sf/L 
v]tL, sDo"^/ tflnd, s[lif tflnd-
cfw'lgs Joj;foL s[lif_

23

2 dlxnf ;zlQms/)f sfo{qmd 23
3 jfnjflnsf ;+/If)f ;DjGwL 

sfo{qmd-nfjSnj ;'b[l(s/)f, 
jfnjflnsf s]Gb|_

23

4 dlxnf tyf jfnjflnsf :jf:Yo 
;DjGwL sfo{qmd

23

5 s[lif xf^jhf/ Joj:yfkg ;+rfng 23

6 cGt{/fli^|o d"lt{snf u'Djf*f+*f 
ljsf; sfo{qmd

23 /fli |̂o 
of]hgf

em= ljB'lts/)f tkm{
1 l;d])^sf] kf]n, tf/ tfGg], 50 

s]=ld= sf] ^|fG;km/d 2 yfg / ly| 
km]; nfO{g lj:tf/

23

0 0 0

s_ s'df/ jHo'sf] 
#/ cufl*sf] df]* 
;'wf/

12,500.00 25 37,500.00 75 50,000.00

v_ &'nf]sfG%f] 
nf]Krgsf] #/ 
cufl*sf] df]* ;'wf/

12,500.00 25 37,500.00 75 50,000.00

u_ j}bf/ ^f]nsf] 
dh'jf hfg] df]* ;'wf/

12,500.00 25 37,500.00 75 50,000.00

s_ /fd jxfb'/ 
lyªsf] #/ cufl*sf] 
vfN^f] k'g{]

12,500.00 25 37,500.00 75 50,000.00

v_ ^'^]kfgL 
psfnf]sf] vfN^f] k'g{]

18,750.00 25 56,250.00 75 75,000.00

6 af^f] ;a]{If)f
;*s /]vf+sgsf]] 
nflu cldg vr{

25,000.00 25 75,000.00 75 100,000.00

7 vfg]kfgL cfof]hgf
vfg]kfgL cfof]hgfsf] 
nflu ly|km]h nfO{g 
lj:tf/

25,000.00 25 75,000.00 75 100,000.00

118,750 356,250 475,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1

do'/wfk Sna #/ b]lv sfnf]kfgL 
pQ/kfgL hfg] af^f] :Nofk (nfg do'/wfk ,sfnf]kfgL, pQ/kfgL16 116,667 25 350,000 75 466,667

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

4 df]* lgdf{)f

5 vfN^f] k'g{]

hDdfM–

hDdf

j*f g+= 16



2

nIdLrf]s x'b} gofa:tL 
*fOe/*f*f hfg] af^f] gfnL lgdf{)f nIdLrf]s, gofa:tL, *fOEf/*f*f16 116,667 25 350,000 75 466,667

3 u}/L^f]n gofa:tL aLrsf] vf]NrLdf 
:Nofk (nfg u}/L^f]n 16 100,000 25 300,000 75 400,000

4 df]Qmfg dfOnLsf] #/ b]lv psfnf] 
x'b} :s'n hf]*g] af^f]df :Nofk 
(nfg :s'n^f]n 16 100,000 25 300,000 75 400,000

5 af^f] gS;f+sg tyf :tl/s/)f ;fljs 1 j*fdf 16 66,667 25 200,000 75 266,667
500,000 1,500,000 2,000,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 zfvf af^f] :Nofk (nfg kl/>lds ^f]]n kl/>lds ^f]n 17 100,000 25 300,000 75 400,000
2= tNnf] nRsf dfly &f*f] af^f] :Nofk (nfg;fgf] ;'sf}nL 17 100,000 25 300,000 75 400,000
3= /ftf]df^] &f*f] af^f] :Nofk (nfg /ftf]df^] 17 116,667 25 350,000 75 466,667
4= gfnL lgdf{)f tyf Aoa:yfkg bdf/^f]n 17 81,667 25 245,000 75 326,667

398,333 1,195,000 1,593,333

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 ;+ud rf]saf^ km'^an u|fp)* hfg] 
af^f] :Nofk (nfg ;+ud Rff]s 18 100,000 25 300,000 75 400,000

2 gj/fh df]Qmfgsf] #/ x'b} dfly &f*f] 
hfg] af^f] af^f] df]Qmfg^f]n 18 100,000 25 300,000 75 400,000

3 ;flassf] s)f]{ vf]nf hfg] af^f] s)f]{vf]nf 18 100,000 25 300,000 75 400,000
300,000 900,000 1,200,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

vfg]kfgL tkm{

zlQmvf]nf vfg]kfgL l/h{e ^+sL lgdf{)f 50,000 25 150,000 75 200,000
efn' vf]nf vfg]kfgL of]hgf 16,667 25 50,000 75 66,667
h'Ogf vfg]kfgL of]hgf 16,667 25 50,000 75 66,667
cfsfzwf/f vfg]kfgL 16,667 25 50,000 75 66,667

l;rfO{ tkm{

zlQmvf]nf lnkm\^ l;rfO{ 33,333 25 100,000 75 133,333
e'ldut l;rfO{ ;DalGw of]hgf 33,333 25 100,000 75 133,333

ko{^sLo If]q

lzjk'/L ko{^sLo If]q 33,333 25 100,000 75 133,333
h?· u'Djf lgdf{)f 16,667 25 50,000 75 66,667

:jf:Yo tkm{

dft[lzz' lslNgs ejg lgdf{)f 50,000 25 150,000 75 200,000
v]ns'b tkm{

kz'klt :kf]^\; Ps]*]dL v]ns'b ;fdfu|L 8,333 25 25,000 75 33,333

k':tsfno Joj:yfkg -kz'klt 
Snj cWoog s]Gb|_ 8,333 25 25,000 75 33,333
lr;fkfgL rf}/ ;+/If)f 16,667 25 50,000 75 66,667

300,000 900,000 1,200,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

vfg]kfgL

hDdf

j*f g+= 20

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdf

j*f g+= 19

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

j*f g+= 18

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdf

hDdf

j*f g+= 17



1 /fgLvf]nf vfg]kfgL 37,500 20 150,000     80 187,500
2 u'jfaf/L vfg]kfgL 25,000 20 100,000     80 125,000
3 vfg]kfgL dd{t ;'wf/ uf]ljGbk'/ u}/Lufp“ r'g*f*f 12,500 20 50,000      80 62,500
4 vfg]kfgL ^+sL lgdf{)f u}/L ufp“ b]lv vdf/] 12,500 20 50,000      80 62,500

cfo cfh{g nlIft ju{
1 ;fj''g tflnd gful/s ;r]tgf s]Gb| 8,333 25 25,000      75 33,333
2 blnt d'lQm ;d'x, uf]& ;'wf/ 8,333 25 25,000      75 33,333

;+# ;+:yf, d&dlGb/ tkm{
1 d':/f^L /fO{^f]n yfgLdfO{ 16,667 25 50,000      75 66,667
2 zf}rfno bz{g ljho rr{ 8,333 25 25,000      75 33,333
3 lszf]/L ;d'x u}/Lufp“ ejgsf] %fgf u}/Lufp“ 8,333 25 25,000      75 33,333
4 dlxnf ;d"x l;rfO{ /fgLvf]nf 12,500 20 50,000      80 62,500
5 vfg]kfgL u}/Lufp 25,000 20 100,000     80 125,000

175,000 650,000 825,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

vfg]kfgL tkm{

1
lr;fkfgL vfg]kfgL sfo{, vfg]kfgL 
jf]*{df x:tfGt/)f 
sfo{ ;DefJotf cWwog ;d]t

21

50,000 20 200,000 80 250,000
2 lqe'jggu/ vfg]kfgL of]hgf 21 50,000 20 200,000 80 250,000

ljBfno tyf :jf:Yo sfo{qmd

1 lqe'jg df=lj= ejg lgdf{)f 21 25,000 20 100,000 80 125,000
2 lghfgGb k|f=lj 21 12,500 20 50,000 80 62,500

nlIft ju{ sfo{qmd 21 12,500 20 50,000 80 62,500
150,000 600,000 750,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

vfg]kfgL tkm{

1
vfg]kfgL sf] nflu x]^f}*f vfg]kfgL 
jf]*{ dfkm{t 
dfi^/Knfg lgdf{)f ug]{ 25,000

20 100,000     80

125,000
2 ;fhjf]^], a'·] vfg]kfgL :t/Ls/)f 12,500 20 50,000      80 62,500
3 s'gf wf/f vfg]kfgL 6,250 20 25,000      80 31,250

l;rfO{ tkm{
1 c+uf/]Zj/ s[lif l;rfO{ 12,500 20 50,000      80 62,500
2 nIdLk'/ s[lif l;rfO{ 12,500 20 50,000      80 62,500
3 %d'/] s[lif l;rfO{ 25,000 20 100,000     80 125,000

ljBfno tkm{
1 afnaf]w p=df=lj= 25,000 20 100,000     80 125,000
2 nIdL lg=df=lj 12,500 20 50,000      80 62,500
3 dxfb]j k|f=lj 12,500 20 50,000      80 62,500

:jf:Yo tkm{
1 dsjfgk'/ x]Nykf]i^ ;+rfng ;xof]u 12,500 20 50,000      80 62,500
1 nlIft ju{ sfo{qmd 25,000 20 100,000     80 125,000
1 ko{^g :yn d& dlGb/ ;+# ;+:yf 25,000 20 100,000     80 125,000

206,250 825,000 1,031,250

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

hDdf
j*f g+= 23

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdfM–
j*f g+= 22

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdfM–
j*f g+= 21

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg



1 lzIff tyf :jf:Yo tkm{
s=sflnb]jL k|f=lj ef}lts lgdf{0f 33,333 25 100,000 75 133,333
v=v]ns'b d}bfg ;+/If0f 33,333 25 100,000 75 133,333
u=gf=;=s] ejg lgdf{0f ef]n]{ 16,667 25 50,000 75 66,667

3=cgfy c;fxfo jfnjflnsf 
;+/If0f s]Gb| ef}lts lgdf{0f 16,667 25 50,000 75 66,667

2 Vffg]kfgL tkm{

s=ef]n]{ l;/fg6f]n,lar6f]n 
/ldt] vfg]kfgL cfof]hgf c+uf/]Zj/ >f]t 66,667 25 200,000 75 266,667

3 d7, dlGb/ tkm{
s=af3 e}/j dlGb/ ;+/If0f s]Gb| 16,667 25 50,000 75 66,667

4 nlIft ju{ pTyfg sfo{s|d tkm{ 16,667 25 50,000 75 66,667
200,000 600,000 800,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 lzIff tyf :jf:Yo tkm{
s= Hof]lt pRr dflj ef}lts lgdf{0f 33,333 25 100,000 75 133,333
v= uf]/If]Zj/ dflj ef}lts lgdf{0f 33,333 25 100,000 75 133,333
u= xgf{df8L x]Nykf]i6 ;+rfng vr{ 16,667 25 50,000 75 66,667

2 Vffg]kfgL tkm{

s= cfk vf]NrL b]lv ubf{gfL 
rf]s;Dd kfO{knfO{g lj:tf/ 16,667 25 50,000 75 66,667

3 ko{6g tyf d7 dGbL/ tkm{
s= xgf{df8L snf k|lti7fg| 33,333 25 100,000 75 133,333
v= l/of] a'4 u'Daf 41,667 25 125,000 75 166,667
u= uf]/If]Zj/ tfn ;+/If0f 16,667 25 50,000 75 66,667
3= uf]/If]Zj/ dGbL/ ;+/If0f 8,333 25 25,000 75 33,333

4 nlIft ju{ pTyfg sfo{qmd

s= blnt, hghftL, dlxnf 
tyf afnaflnsf, n}}+lus lx+;f 
d'St sfo{qmd ;d]t 0 25 75 0

200,000 600,000 800,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 lzIff tyf :jf:Yo tkm{
s=sdnf lg=lj ef}lts lgdf{0f 33,333 25 100,000 75 133,333
v=k~rsGof k|flj ef}lts lgdf{0f 33,333 25 100,000 75 133,333
u=uf+p 3/lsln+s ef}lts lgdf{0f 33,333 25 100,000 75 133,333

2 nlIft ju{ pTyfg sfo{s|d tkm{

s= blnt, hghftL, dlxnf 
tyf afnaflnsf, n}}+lus lx+;f 
d'St sfo{qmd ;d]t 0 25 75 0

100,000 300,000 400,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

hDdfM–
j*f g+= 26

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdfM–
j*f g+= 25

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdfM–
j*f g+= 24

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg



1 /fKtL k'n nfnemf*L s'n]vfgL 

t];|f] / #^] v^}vf]nf df]]^/ 

af^f] hf]*\g] sfo{ 26 112,500 20 450,000 80 562,500

2 nfnemf*L lk|td^f]n vfg]kfgL of]hgf 26 25,000 20 100,000 80 125,000

3 nfdL*f*f vfg]kfgL of]hgf 26 25,000 20 100,000 80 125,000

4 ul%/L^f]n x'b} uf]n] ^f]n vfg]kfgL 26 25,000 20 100,000 80 125,000

5 hfu]Zj/L vfg]kfgL of]hgf 26 12,500 20 50,000 80 62,500

6 dlxnf ;r]]]tgf 

afnaflnsf,ckf*= a{@a{@fx?nfO{ 

cfod'ns sfo{s|d 26 25,000 20 100,000 80 125,000

225,000 900,000 1,125,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1
x]^F}+*F j*F g+= 27 df lgdf)F{ 

ePsf] af^F]x? xfn ;+rfngdf 

Nofpg g;lsg] af^f]x?nfO{ k'g 

;+rfngdf Nofpg] 27 250,000 20 1,000,000 80 1,250,000

250,000 1,000,000 1,250,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 lqmofl;n dlxnf ejg tyf 

sK^Lbdf/  ;fljs a;fdf*L−5 28 66,667 25 200,000 75 266,667

2 ldng^F]n nfdf^F]n vfg]kfgL 

kfO{k lj:tf/ ;fljs a;fdf*L−5 28 33,333 25 100,000 75 133,333

3 gl;{ª*F*F+ kfgL ^\ofªsL 

;Gtfg]Zj/ ;fljs a;fdf*L−3 28 100,000 25 300,000 75 400,000

4 dflyNnf] hDj" rf}tf/f vfg]kfgL 

of]hgf ;fljs a;fdf*L−3 28 100,000 25 300,000 75 400,000

5 ufd|L)f s[ifLdfu{ vf*Lbdf/ 

;*s :t/pGgtL ;fljs a;fdf*L−3 28 100,000 25 300,000 75 400,000

6 afn pHjn df=lj= vfg]kfgL 

of]hgf ;fljs a;fdf*L−3 28 116,667 25 350,000 75 466,667

516,667 1,550,000 2,066,667

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 *F]bf]g %of]lnª jf]%' uDjf tyf 

cgfy k|f= lj, ef}lts k"jf{wf/ 

lgdf{)F ;fljs a;fdf*L−1,g]jf/kfgL29 50,000 25 150,000 75 200,000

2
c/lgsf] df=lj= :s"n rf]saf^ 

/fKtL emg]{ :Nofk jf^F] lgdf{)F ;fljs a;fdf*L−1 29 50,000 25 150,000 75 200,000

3 zf]srgdf{u r]kfª ^F]n hfg] 

:Nofk (nfg jf^f] lgdf{)F ;fljs a;fdf*L−1 29 66,667 25 200,000 75 266,667

4 s"gf^F]n jf}$ uDjf ejg (nfg ;fljs a;fdf*L−2 29 66,667 25 200,000 75 266,667

5 lgd{n pRRf df= lj= a:tLk"/ (n ;"wf/;fljs a;fdf*L−2 29 33,333 25 100,000 75 133,333

6
d"QmLdf{u vf]NrL shj]r, jf;"b]a 

rr{ b]lv k'n;Dd ;*s dd{t ;fljs a;fdf*L−2, jf;"b]a 29 66,667 25 200,000 75 266,667

7 df}jf^F/ h:tf#/] af^ rr{ 

hfg] af^f] :Nofk (nfg ;fljs a;fdf*L−2, a:tLk"/ 29 66,667 25 200,000 75 266,667

400,000 1,200,000 1,600,000hDdfM–

hDdfM–
j*f g+= 29

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdfM–
j*f g+= 28

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdfM–
j*f g+= 27

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg


